DESCRIPTION:

MALE - 0.370 RIGHT ANGLE / MACHINED

A

+0.008
B

+0.008
C

+0.008

iO.lz)OS @

7 N
00000000 O0O0O0CO0O
&OOOOOOOOOOOOJ

@ 10.%08

T .

+0.008

0.138 (3.50)
+0.020/-0.012
TYP.

J l=— 0.026 (0.65)

$

goooooo

0.433 (11.00)

MATERIAL:

SHELL:
INSULATOR:
PROCESS TEMP.:
CONTACT:

ELECTRICAL:

CURRENT RATING:
CONTACT RESISTANCE:
INSULATION RESISTANCE:
VOLTAGE:
TEMPERATURE:

1

STEEL, NICKEL PLATED

UL 94V-O RATED, WHITE PA6T

260° PROCESS TEMPERATURE
PRECISION MACHINED COPPER ALLOY

5 AMPS

10 mOhms Max.

5 GOhms Min.

1000 V AC FOR 1 MINUTE
-55°C TO +125° C

RoS COMIPLIANT

iR

(5

UNITS =

DIMENSIONS (inch/mm)
No. OF
ons | A B c D E F
o | 1213 | 0984 [ 0665 [ 0327 | 0240 | 0.492
30.80 | 2500 | 1690 | 830 | 610 | 1250
0.031 (0.80) 15 | 1543 | 1311 [ 0994 [ 0327 | 0.240 | 0492
£0.008 39.20 | 3330 | 2525 | 830 | 610 | 1250
5 | 2089 [ 1852 | 1533 | 0.327 | 0240 [ 0492
0.157 (3.99) 53.05 | 47.05 | 3895 | 830 | 6.0 | 12.50
£.010 2732 | 2500 | 2181 | 0327 | 0.240 | 0.492
r TYP. % 76940 | 6350 | 5540 | 830 | 6.0 | 12.50
i so | 2638 | 2402 | 2079 | 0439 [ 0240 [ 0602
67.00 | 61.00 | 5280 | 1115 | 6.10 | 15.30
-L 0.370 (9.40) 174-EYY-11YRYY1
SERIES T
POSITIONS
E09
E15
E25
E37
E50
GENDER
1=MALE
TERMINATION

1=PC MOUNTING

SHELL PLATING

3 = NICKEL (GROUND INDENTS)

RoHS COMPLIANT
HARDWARE OPTIONS

00 = NO HARDWARE

01 =0.098" CLINCH NUT (BOARD SIDE)

14 = SHORT BRACKET WITH 4-40 SCREW LOCK

24 = SHORT BRACKET WITH 4-40 SCREW

46 = BRACKET WITH 4-40 INSERT AND BOARDLOCK
PLATING OPTIONS

1=GOLD FLASH
2 = 30MICRO-INCH GOLD
3 =50 MICRO-INCH GOLD

inch [mm]

DO NOT SCALE FROM DRAWINGE

THESE DRAWINGS AND SPECIFICATIONS DRAWN: DATE:
ARE THE PROPERTY OF NorComp AND 11-28-05
SHALL NOT BE REPRODUCED, COPIED PAM JENKINS
OR USED AS THE BASIS FOR THE
MANUFACTURE OF SALE OF APPARATUS
WITHOUT WRITTEN PERMISSION.
SCALE: SHEET OF REV
NorComp == ewmmm
DWG NO.
174-EYY-11YRYY1




0.224

DESCRIPTION:  PCB LAYOUT
1.312
¢
0.984 ~ 0.656 =
¢ 0.378 —
0.492 0.270 —=
0.216 — 0.112 (9, 15, 25, 37 POSITON) 0.162 —= 2 0.126 %
0.108 0.054 —=— O/ MINIMUM
o0 o000 l SO o'COOo0
@ Toorod 3 ORERAANANAAN
—| ||~ 0.162 0.108 —= \
0.056 (9, 15, 25, 37 POSITON) 0216 —] @ 0.043 %
=— 0.054 0.324 —| -
9 POSITION 15 POSITION
2.500
} 2.406
- 1.250
0.978 ~ 1203 —
0.870 0.870
0.761 0.761
0.652 | 0.652 |
0.544 | 0.544 |
0.435 0.435
0.326 —=— 0.326 —=|
0.218 —— 0218 —=
0.109 —e] 0.109 ——1 |

O

0000 CC

e oo oo e
CCOCOCO0

O

S50
OO

o

0.055
0.163
0.272
0.381
0.489
0.598
0.707
0.815
0.924

37 POSITION

COoO0CO00000CCO

OO COCOO0

©) ©)

OCOCOCLO00

OHO0O0 00O — {
O O0CGO0O00 ©) (0}

00 COO0O0O0C

O CTOTCTOC 810 €

o)

>0 0O0CCOO00

1.852
¢
|=— 0.926 —
0.652 |
0.544 |
0.435
0.326 —=
0.218 —=
0.109 —=—
OO0 00 O CC
O OO0 O00O0 OOO o} 0(10000(30 O
l~— 0.055
l~— 0.163
l~— 0.272
~—=1—— 0.381
— 0.489
— 0.598
25 POSITION

174-EYY-11YRYY1

~— 0.055
—~— 0.163 0.112
—— 0.272
— 0.381 UNITS = inch
—— 0.489 VP
— 0.598 SUGGESTED SIZE
0.707 MAY NOT BE SUITABLE FOR ALL APPLICATIONS
0.815
50 POSITION
DO NOT SCALE FROM DERAWING
THESE DRAWINGS AND SPECIFICATIONS DRAWN: DATE:
ARE THE PROPERTY OF NorComp AND 11-28-05
SHALL NOT BE REPRODUCED, COPIED PAM JENKINS
OR USED AS THE BASIS FOR THE
MANUFACTURE OF SALE OF APPARATUS
WITHOUT WRITTEN PERMISSION.
SCALE: SHEET OF REV
If]"] NTS 2 3 15




DESCRIPTION: HARDWARE

CLINCH-NUT HAS 4-40 INTERNAL THREADS

r 0.125 (3.18)

-

|~ 0.157 (3.99)
|- 0.305 (7.75)

o

— MOUNTING BRACKET

<——l— 0.640 (16.26)

14Y = SHORT BRACKET & 4-40
FEMALE HEX SOCKET

24Y = SHORT BRACKET & 4-40
SCREW

01X..... 0.098" (BOARD SIDE)

0.142 (3.60)

S

0.187
ACROSS FLATS

316 HEX 4-40 UNC-2A

4-40 UNC-2B
0.100 Min. DEPTH

0.187 0.311
+0.010 £0.010

0.098 (2.50)
46Y = BRACKET WITH 4-40 INSERT AND
BOARDLOCK 440
THREADED
INSERT
9-37 POSITION 50 POSITION
CONNECTOR CONNECTOR
BRACKET BRACKET /L
NOTE: LOCATOR PLATE PRESENT ON 50 PIN ONLY ( / N\ )
S

HOLE CIL ‘ |
0.420 (10.67) ' '

RoS COMIPLIANT

& &

HOLE C/L ‘ |
0.470 (11.94) ' '

BRACKETS MOUNTED ON CONNECTOR
DO NOT SCALE FROM DRAWING

UNITS = inch [mm]

THESE DRAWINGS AND SPECIFICATIONS DRAWN: DATE:
ARE THE PROPERTY OF NorComp AND 11-28-05
SHALL NOT BE REPRODUCED, COPIED PAM JENKINS
OR USED AS THE BASIS FOR THE
MANUFACTURE OF SALE OF APPARATUS
WITHOUT WRITTEN PERMISSION.
SCALE: SHEET OF REV
NorComp == emmmm
DWG NO.
174-EYY-11YRYY1




Mouser Electronics

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

NorComp:
174-E09-113R001 174-E15-113R001 174-E25-113R001 174-E37-113R001 174-E50-113R001



https://www.mouser.com/norcomp
https://www.mouser.com/access/?pn=174-E09-113R001
https://www.mouser.com/access/?pn=174-E15-113R001
https://www.mouser.com/access/?pn=174-E25-113R001
https://www.mouser.com/access/?pn=174-E37-113R001
https://www.mouser.com/access/?pn=174-E50-113R001

	174-EYY-11YR001_rev15 Layout1 (1)
	174-EYY-11YR001_rev15 Layout1 (2)
	174-EYY-11YR001_rev15 Layout1 (3)

